Vectors

Example

Find the size of the angle between the line
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cos(@) = L& =431 = 8 g=39%

So angle between line and plane =90 -29.2 = 60.8°

and the plane 2x +3y—2z=0

Angle between a Line and a Plane

Assume that the line is not parallel to the plane.

If 6 is the angle between the line and the normal vector to the
plane, then (90 - 8) is the angle between the line and the line.
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Example

Find the size of the angle between the line
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x+y+z=0

The acute angle between the line and normal vector to the plane is 180 - 101.1 = 78.9

.".the angle between the line and plane is 90 - 78.9
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